Maths

1a. wWhich tewo numbers add together fo
make the answer 3 1507

A | 1e0 1000 100 B | 1000 10 10
w1 101 [
R 101
o [1eee 10 (%
1 1
1 1
"-.-J:L-"
=i

1b. Which two numbers add together o
make the answer 32217

A 1oee 100 1 B [ 1m0 1000 100
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2a. Lovise is adding hwo 4-digit numbers
together.
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what digit covld be in the ones column so
that an exchange takes place?
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2b. Cassie is odding two 4-digif numbers
together.
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wWhat digits covld be in the ones column
50 that an exchange takes place?
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3a. Josh thinks that an exchange takes
plkace from the ones column in the

calculation below.
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Is he comect?
Frove if.
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Ab. pavid thinks that an exchange takes
place from the ones column in the
calculafion below.
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I5 he comeci?
Frove it
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